Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages:

50, will be treated as malp_ractice.

2. Any revealirig of identification, appeal to evaluator and /or equations written eg, 42+8
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L= {co cfa,b}: o= @ba‘ or || is even}

Mo -1
“between DFA and NFA?

&

Construct the DFA for the fol

@i) Set of all strings

(i)  Set of all strings no Containing the substring “ﬁab”

(iii)  Set of all stri exactly three conse@?we a’s.
Construct the NDFA ef for the following langg,age

¢
'&\@%in co} where )" = {a,b,c,d}

Minimize the followin@gg?ﬁmata: (Ref. F 1gﬂQ2 (b))

Module-2

f“esswn Conveﬁ%e following automation to a regular expression.
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OR
a. Showthat L = {O“ |nis prime} is not regular? (06 Marks)
b. State and prove that regular languages are closed plement intersection difference,
reverse and letter substitution. ) (08 Marks)
c. Write the regular expression for the following |
L= {a“bm | m+niseven
L={a“b’“|m>1,n21nm23} (06 Marks)
a. Define Regular Grammar? Write (.
L={01" |n>1} ..
L { strings of a’s and b’s wit (05 Marks) .

b. Define ambiguous grammar anﬁ show that followmg expf‘esswn grammar is ambiguous over
the string id +id *id . Wiite equivalent unamb1guou§,;gmmmar for the same? :
Grammar '

(05 Marks)

=4ng{w) = n, (0) wheren > 1

Draw the transition diagram for PDA. Also show, PDA for the string

(10 Marks)

OR

(10 Marks)
(04 Marks)

(06 Marks)

(12 Marks)

ine and explain with neat diagram, the working of a basic turing
(08 Marks)

20f3
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OR
-8 a. Designa TM to accept {0"1"2“ |n> 1} and show the,. made by the machine for the
string 0001112227 .- (10 Marks)
~ b. Describe in detail decidable languages. (05 Marks)
' . Briefly explain the technique for Turing mach (05 Marks)
" 9 a. Explain the following:
... () Non deterministic Turing Machy
4t v S (i)  Multitape Turing Machi (10 Marks)
. b. Discuss the following:
@) Recersively enumer
L (i)  Post correspondes (10 Marks)
: ' Write short noteon t
_.a.. Quantum computg
a “... 'p. Class NP.
' B
e (20 Marks)



